Number of consecutive days

Sub-population "A" Nesting Condition Availability (1965-2000)
Number of consecutive days with water levels below ground (2/15-7/15)

160 I I ‘ ‘ ‘ ‘ \ \ I 160
: @ -5 —@ -®B— S— -€ @ :
[ — }
140 - /" 1 140
| ,Il‘ T
L uj‘ 7
120 = 1 120
7 n
r - & b %
i / | S
1 O O [ - g / = “ _ 1 O O G>)
L 7@—’-?55, | =
I y | o
80— = pppee” 18 5
; / s
] Y—
L A I | o
/| | =
60 4 160 o
o= | I
[ 4 | | 4 0
I / | | ] =
L 1 J I I 1 2
40 | —p // L~ L NSM462 - 40
L = — —o 07LORS ]
. moeeeee = altlbS2 i
0 | y albS2-A 1 20
| /us — —o glt4 |
| Vi a4-A |
— s |
0 7 | | | | | | | | | 0
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

Script used: csss.scr, v1.2

D

Filename: csss_popA_nesting_period.fig

Probability of having fewer days
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